nm

1 151U/
90<=

1960

253.7 nm

uv

30

197Hg
Hgo
HgZ+
253.7
1 0.1 ng

50 ml
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200 230 30
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HNOs HCIOs 1 1 100 ml

100 ml
H2S04
HCI
10% SnCl2 10g HCI9ml
100 ml N2 100 ml/min 20 30
5N NaOH 2049 100 ml
0.1N NaOH 5N NaOH 50
0.1% L L HSCH2CH(NH2)COOH HCI H20
10 mg 0.1N NaOH 10 mi
2. CHsHgCI 12.5mg 100 ml
100
Iml 10pg Hg
0.5 ml 0.1% L
5ml 10 ml 3
1200 rpm 3
1 Iml 0.1pg
Hg
1IN H2SOa4 30 ml 1000 ml
1% KMnOa 19 1N H2SO4 100 ml
0.5% KMnO4 0.5¢g 100 ml
CsHsCHs
Hg 201
250
3. 50 ml 150 mm
13 mm
10, 100 1000 ml
0.2,05,1,5 10 ml

12



20 ml

10 ml
V4
0.5% KMnOa4 KMnOa4
c
05¢g
0.1g 0.5ml
1ml HNOs HCIOs 1 1 2ml H2SO04 5 ml 200
230 30
HNOs HCIOs 1 1 2ml H2S04 5 ml
1 2ml
4
0.10 ug Hg/ml 0 1.0 ml
Hg 0.10 ug 1mil
HNOs HCIO4 1 1 2ml H2S04 5 ml
d
V mi 5 ml
20 ml
10% SnCl2 1ml
30
30 90

5)
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V ml 5ml
Ps

ml)

20ml = © mm

7

Mg /g = 0.10 pg><(Ps-Pbl)/(Pstd-Pbl)><

ng/g or ml = 100 ng><(Ps-Pbl)/(Pstd-Pbl)>

Hg 201

1 ppm

13.5mg 100 ml

HCIOs 1 1 4ml H2S0410 ml

1000
3
4
HCIOs+ 1 1
5

1mil 100 pg Hg

1ml

21 mm 200 mm

14

Pbl, Pstd

<1/ (9

<1/ (g or

HNO:z

0.10 pg Hg

HNO:z
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0.02 0.05 0.10 pg Hg/50 ml

1
05¢g 10 mg
,1ml
HNOz HCIO4s 1 1 ,2ml
H2SO04, 5 ml
200 230 ,30
50 mi
5ml
10% SnCl2, 1 ml
AAS
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HNOs: HCIOs 1 1 ,2ml
H2S04, 5 ml

2 ml
200 230 , 30

50 ml
, 5ml

10% SnClz, 1 ml

AAS
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mg 100
20 ml
CHsCOCHs3
C2HsOH
HNOs HCIOs 1 1 100 ml
100 ml
H2S04
HCI
10% SnCl2 10g HCI9ml
100 ml N2 100 ml/min 20 30
5N NaOH 2049 100 ml
0.1N NaOH 5N NaOH 50
0.1% L L HSCH2CH(NH2)COOH HCI H20
10 mg 0.1N NaOH 10 mi
CHsHgCl 12.5 mg 100 ml
100
Iml 1.0pg Hg
0.5 ml 0.1% L
5ml 10 ml 3
1200 rpm 3
1 1ml 0.1 pg
Hg
1IN H2SO0a4 30 ml 1000 ml
1% KMnOa 19 1N H2SO4 100 ml
0.5% KMnOa4 05¢g 100 ml
CsHsCHs
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Hg 201
50 ml 150 mm
13 mm
10, 100 1000 ml
0.2,05,1,5 10 ml
20 ml
10 ml
V4
0.5% KMnOa KMnOa
c
10 mg 1ml HNOs
HCIO4 1 1 2 ml H2S04 5 ml 200 230 30
100 ng Hg/ml 0O 1.0 ml Hg 100 ng
1ml HNOz HCIOs 1
1 2ml H2S04 5 ml
d
V ml 5 ml
20 ml
10% SnCl2 1ml
30
90
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V ml
Ps

5ml

20 ml

ng/mg

mm

= 100 ng>=(Ps-Pbl)/(Pstd-Pbl)>< <1/

05¢g

10 mg

AAS

,1ml
HNOs HCIOs 1 1 ,2ml
H2SO04, 5 ml
200 230 ,30

50 ml
5ml

10% SnCl2, 1 ml

Pbl, Pstd

(mg)
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1 3

2.0 mm
HNOs HCIOs 1 1 100 ml
100 ml
H2SO0a4
HCI
10% SnCl2 10g HCI9ml
100 ml N2 100 mli/min 20 30
5N NaOH 2049 100 ml
0.1N NaOH 5N NaOH 50
0.1% L L HSCH2CH(NH2)COOH HCI H20
10 mg 0.1N NaOH 10 mi
CHsHgCl 12.5 mg 100 ml
100
Iml 1.0ug Hg
0.5ml 0.1% L
5ml 10 ml 3
1200 rpm 3
1 1ml 0.1 pg
Hg
1IN H2SOa4 30 ml 1000 ml
1% KMnOa 19 1N H2SO4 100 ml
0.5% KMnOa 0.5¢g 100 ml
CsHsCH3s
Hg 201

250
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50 ml

13 mm
10, 100 1000 ml
0.2,05,1,5 10 ml
10 ml
0.5% KMnOa
c
05¢g
1ml HNOz HCIOs 1 1 2ml
30
1.0 ml Hg 0.10 ug
HNOz HCIOs 1 1 2ml
105 4
/ WW/DW
d
20 ml
10% SnCl2 1ml
30

30

21

H2S04 5 ml

10 20 g

200 230

150 mm
V4
KMnOa
H2S04.5 ml
0.10 pg Hg/ml O
1 ml
V ml 5 ml
90



V ml 5ml 20 ml mm Pbl, Pstd

Ps H9/g
ug/g =0.10 pg><(Ps-Pbl)/(Pstd-Pbl)>= <1/ (9)<WW/DW
WWwW/DW /
05g 10 mg
,1ml
HNOs HCIOs 1 1 ,2ml
H2SO4, 5 ml
200 230 ,30
50 ml
5ml
10% SnCl2, 1 ml

AAS
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0.45 um
HNOs HCIOs 1 1 100 ml
100 ml
H2S04
HCI
10% SnCl2 10g HCI9ml
100 ml N2 100 ml/min 20 30
5N NaOH 2049 100 ml
0.1N NaOH 5N NaOH 50
0.01% 2200 ml
CsHsN:NCSNHNHCsHs 0.011 g 100 ml
0.1N NaOH 50 ml
1IN HCI
100 ml 0.01%
0.1% L L HSCH2CH(NH2)COOH HCI H20
10 mg 0.1N NaOH 10 mi
CHsHgCl 12.5 mg 100 ml
100
Iml 1.0pg Hg
0.5 ml 0.1% L
5ml 10 ml 3
1200 rpm 3
1 Iml 0.1ug
Hg
1N H2SO4 30 ml 1000 ml
1% KMnOa 19 1N H2SO4 100 ml
0.5% KMnO4 0.5¢g 100 ml
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20N H2SO4 1L 350 ml

600 ml 1000 ml
10N NaOH 400 g 1000 ml
10% NH20H HCI 1049
100 mi
10% EDTA Ci0H12N20sNas 4H20
10 g 100 ml
CsHsCHs
b
Hg 201
250
50 ml 150 mm
13 mm
10, 100 1000 ml
0.2,05,1,5 10 ml
2L
10 mi
V4
0.5% KMnOa. KMnOa
c
2L 2L 20N H2S04 10 ml 0.5% KMnO4 5ml
5 10N NaOH 20 ml 10% NH20H HCI 5 ml
20 3) 10% EDTA 5 ml
0.01% 10 ml 1
1
10 ml 1200 rpm 3
05¢g
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7 ml

60 1 ml
HNOs HCIO4 1 1 2ml H2S04 5 ml 200 230
30
2L

100 ng Hg/ml O 0.2ml Hg 20 ng

d
VvV mi 10 ml
20 ml
10% SnCl2 1 ml
30
30 90
VvV mi 10 ml 20 ml mm Pbl

Pstd Ps

Hg ng/L 20 ng><(Ps-Pbl)/(Pstd-Pbl)>= <1/ (L)
1 ng/L
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Cl

Clz

EDTA

P 14-15

26

Cl

20

3-1-1

Clz



2L 2L

20N H2S04 10 ml

0.5% KMnO4 5 ml 5

10N NaOH 20 ml

10% NH20H HCI 5 ml 20
10% EDTAS5 ml

0.01% , 10 mi

1

10 mi

Na:S040.5g
1200 rpm, 3
7 mi

, 1 ml
HNOs HCIOs 1 1 ,2ml
H2SO04, 5 ml
200 230 ,30

50 ml
, 10 ml

10% SnClz, 1 ml
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